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Exercise 1 Circle the correct statement(s), without justification:

1. The determinant of a matriz with only 0 on its diagonal is equal to O,

NO/DQ*(’?‘O""‘.

If 0 is an eigenvalue of A € M,(R), then A can not be invertible,
SQinece AX =0 \gm come X € R" X # O Ove l\oq Ke;n ‘L«h) # <D‘
= L,g u kot n ’U&J\L?c => d'\i v\eJ( o A {;ch B}
If two n x n matrices A and B are similar, then the equality Det(A) = Det(B) must hold,
BB = UAUT few DAB) - Det(u) et (A) DA (U
= Vel (A).

@ The determinant of a symmetric matriz can be equal to 0,

(1444) %) A‘h“‘met?u'a av\al lt JLC‘MLWQ“F“ 0.

5. If A, B € My,(R), then Det(A + B) = Det(A) + Det(B),
No , i = (68) /R=127) . few DB =1 b

TNet ((ﬂ) = Det (BR) = o .
@ For any A € My(R), one has Det (A A) = Det (‘4 A),

Guce R (BA) = Dt (1) Deb () = Dt L

7. If A € M3(R), then Det(—.A) = Det(A),

o (350 e (319

8. If A€ M,(R) and A% = 1,, then Det(A) =1,

No |, :g LP(:(O 4) Then (})2 = ﬂt Lw—t Dc[’(\ﬁ) :‘-'!,

1 0

9. If all entries of a 3 x 3 matriz are 3, its determinant must be 33 = 27,
I R "
N6 ) A" J&l@tmthav\{- w 0.

10. The sum of two invertible matrices is invertible.

No p 'un an "ﬂv\ axre v F&{;)({:LPc ; low{ 'ﬂm +{’1L)=On
osd On b uat  le vt b |



